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all and that Opera |s the Ieast popular F|nd the .
number of Chrome users given that total number of
users is 1 million? - .

you can simply use your knowledge of percentages,
and say that the number of Chrome users is 15.5% of
1,000,000 = 155,000.
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~columns, you can also quantify the differences between = s |19
countries. For instance, given that Venezuela has 300,000 - - Rlssia
million barrels of oil, and that Iran has 150,000 million barrels, = UAE
you can say that Venezuela has twice as much oil as Iran, or = US
that the ratio of their oil reserves is 2:1. You may even be 100000 China
asked questions related to ratios, proportions, and
percentages. 50000
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( The symmetric difference of Aand B J
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_ The relative complement of Bin A }
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A < B
A is a subset of B

(@ )

AUB
The union of A and B
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GRE QUANTITATIVE
(DATA ANALYSIS)

Each of the CD players sold by Store S last month was sold at the price of $119.95 plus a 7 percent sales
tax. Approximately what was the total revenue, including sales tax, for the CD players sold by Store S last

month?

THREE TYPES OF ELECTRONIC UNITS IN STOCK AND

A) S8,64O SOLD BY STORES R, S. AND T LAST MONTH
B) $9 ,240 Number of Units in Stock Nuz:b;l;::bg:\ 1:;321?::;:&1“‘
T D | oo [Television] '00%
D) $10,800 : : 40%
E) $11,550 : o MW
80 Store
S CDs sold = (90 (—) il
) 100 7
Price of each S CD = (119.95) <M) =~ 128.3

Total revenue for S CDs sold = (72)(128.3) = 9,237.6
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